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Unit 3: Solving Equations

UNIT REVIEW

READ ME

The purpose of this review package is to diagnose areas that you need more practice with before the test.

1. Review your notes before trying the questions in this

2. Answer the questions on this handout. Treat it like a test. DO NOT look at the answers until you have finished all

of the questions.
3. Use the answers provided to check and see how you

package.

did.

4. Use the additional review questions provided (Unit Review Il and other assigned course pack and textbook

questions).
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2. Samwise Gamgee solved two different equations, shown below:
a) Check his answers to see if he answered the questions correctly.
Question #1 Question #2
X+ ¢ =12 -3%X 5+6=9
2X+4=12 3
X=4 %=9
Lett Siok. | Right Srele Left S | Ripht Sode
ox +y (2 -3x .._35 46 7
=57q) +Y =12 -3y
=20ty < 2-(2 =2 14
=0 S
=24 -3tk
=9

LSXRS /) eanwc Ls=R2s .. RieHy

b) If either of his answers is incorrect, look at his work and circle where he made his error
Explain, in words, what he did incorrectly.

Ix+Y4 =[2-3x

He madec @ mistaly o Hh the eliminalion of ~dx From vipht 3o .
@"’ =/2 He subtracted 3X +Fropm Hofh sloes Ins#cad of QO(ofmr 3y Jo Lotk
, 2x =3 S/ oleg.
x =Y
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3. Solve the following equation. Describe, in words, each step you used to solve the equation.

7b+2b=-5—-4

P -1
9 4

[ £==1/

2) tlivide both 3/dey

) colleet /ihe Fe/ms and Jf'mffl'@ on each Side

b T Ao elmmnte U Lom L/ sy,

4. Determine the value of A in the equation 5x + 7 + 2x + A = 100, such that the solution to the equation is x = 11.

TF x is 1 lets subd ‘a1l for x /in the cquation
Sx+ F+1TIX + A =loo
S(N+F++2D+A =loo
S5+F+ 22+ A <loo = simpbfy

FU+4A — (oo

A = 6

« solue for A

5. The cost of renting a bike at Centre Island in Toronto is represented by the equation C = 2n + 10, where C is the cost

of renting a bike, and n is the number of hours of bike rental.

a) How much does it cost to rent a bike for 2 hours?

C=2n +l0

C=2(0 t+w0
C-y+(o
C=1ly

v LA cos+ Py o cent for Dj,

Ysub in 2 for n
l) solve o~ C

b) How long can you rent the bike for if it costs $30?

C =4n ¥lO aldernctisel v can Yeasra
('*"' male f'LJ‘f‘k. Sukgjwr)

0= 20 41O )sabin 30 A b

-l1o -lo

20=2n

- 2
0= -

Ne (o L. You Can veat i+ ‘f:v 30{“‘,,‘,.

c) Write a simplified equation to show the cost of renting 2

d) You and a friend want to spend the day at Centre Island.

bikes. — Together, you have a total of $50 to spend for the day. If
= you each have to pay $8 for the ferry ride (round trip), how
C- 2(2"~ + "‘9 o C &HO +&‘ tho long can you afford to rent bikes for?
C- an.-’.zo l_ C:—_ ({n-(-no ‘)*’c“‘!' af e m'ﬁuv ride
- = Bo- 2Xx3 2) C = Un42o sub ia 3 for
= 5o-16 3§ = Yn+20 C i T equet,
- 3L{ q 3’"‘ CMJ 0 C)
‘L{ = QIL
ﬁf‘: n
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6. The total cost (T) for a group to go to an amusement park and buy and all-inclusive ticket for all the rides is given by
T =25A+ 15C + 10(A + C), where A is the number of adults, and C is the number of children.

a) What is the cost for a family with one adult and three
children to go to the park?
A&=1 C=3

Te 25A tirctio(A4q)

]
T=25C1) +15(3) +(0(1+3)
T=25+U7+4o
T=1/l0

b) If a family with two adults goes to the park and pays
$195, how many children are there?

T=254A ti5C + lo(A+c)
(95-= 25()+(5¢c + rg:(:;f\c)
1957=50+15c+ 29+l0c
/97 = 25¢ + 70

125 =25¢C

. ITHwdll cost #//0.
—ec . mwﬁm Tch:‘/afm.

c) A teacher plans to take his class of 25 students to the amusement park on a field trip. He is hoping to get some parent
volunteers to come with them on the trip. If the bus they are taking seats 32 people, what is the maximum and minimum

cost of the trip? S
f%‘f???”?[é R
- =
no volunteer pacents; 1twach and 25chiten | pey ¢ perecnts can volurtce— because Fhare
T =24 + Isc+/o(a+c) A=l C=25 are b quaé Seods avarlolle on the bu)
g
T = 250) +15(25) +(o(/ ¥25) T= 264 +I5C+ IO(IH-CL A=-TF =25
T= 25+ 315 + 2o 7= 257%#) +:~7(25-)+to(7-+2sj
T =660 T=Il15s+325+ 310
T= 370
£870.

.. The min cost- /s $‘50 .‘h-{ e max cost /s

7. The perimeter of the garden in the diagram is 170 m. Determine the value of w and the length of each side.

Sum of extrtes all sides = Peclmeder
2+
“ (’) = /7?0 oW is I5
190w + 20 =170 One sde 2+ b
22 -2 205)+ ¢ 3Ym
Ow =50 =do+y
lo lo =3y
w =/5
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